THE VILLAGE OF TINLEY PARK

Cook County, Illinois Will County, Illinois

RESOLUTION NO. 2018-R-100

A RESOLUTION APPROVING A PURCHASE ORDER TO LIGHTING SOLUTIONS FOR LED LIGHTING REPLACEMENTS – OAK PARK AVENUE (CONVENTION CENTER) TIF DISTRICT PROJECT

JACOB C. VANDENBERG, PRESIDENT KRISTIN A. THIRION, VILLAGE CLERK

MICHAEL J. PANNITTO BRIAN H. YOUNKER CYNTHIA A. BERG WILLIAM P. BRADY MICHAEL W. GLOTZ JOHN A. CURRAN Board of Trustees

Published in pamphlet form by authority of the President and Board of Trustees of the Village of Tinley Park

RESOLUTION NO. 2018-R-100

A RESOLUTION APPROVING A PURCHASE ORDER TO LIGHTING SOLUTIONS FOR LED LIGHTING REPLACEMENTS – OAK PARK AVENUE (CONVENTION CENTER) TIF DISTRICT PROJECT

WHEREAS, the Village of Tinley Park, Cook and Will Counties, Illinois, is a Home Rule Unit pursuant to the Illinois Constitution of 1970; and

WHEREAS, the Corporate Authorities of the Village of Tinley Park, Cook and Will Counties, Illinois, have considered approving a purchase order with Lighting Solutions, of Illinois, IL, a true and correct copy of such Purchase Order being attached hereto and made a part hereof as **EXHIBIT 1**; and

WHEREAS, the Corporate Authorities of the Village of Tinley Park, Cook and Will Counties, Illinois, have determined that it is in the best interests of said Village of Tinley Park that said Agreement be entered into by the Village of Tinley Park;

NOW, THEREFORE, Be It Resolved by the President and Board of Trustees of the Village of Tinley Park, Cook and Will Counties, Illinois, as follows:

Section 1: The Preambles hereto are hereby made a part of, and operative provisions of, this Resolution as fully as if completely repeated at length herein.

Section 2: That this President and Board of Trustees of the Village of Tinley Park hereby find that it is in the best interests of the Village of Tinley Park and its residents that the aforesaid "Purchase Order" be entered into and executed by said Village of Tinley Park, with said Agreement to be substantially in the form attached hereto and made a part hereof as **EXHIBIT 1**, subject to review and revision as to form by the Village Attorney.

<u>Section 3</u>: That the President and Clerk of the Village of Tinley Park, Cook and Will Counties, Illinois are hereby authorized to execute for and on behalf of said Village of Tinley Park the aforesaid Purchase Order.

Section 4: That this Resolution shall take effect from and after its adoption and approval.

ADOPTED this 4th day of December, 2018, by the Corporate Authorities of the Village of Tinley Park on a roll call vote as follows:

AYES: Younker, Pannitto, Berg, Brady, Glotz, Curran

NAYS: None

ABSENT: None

APPROVED this 4th day of December, 2018, by the President of the Village of Tinley Park.

Village President

K The

Hage Clerk

EXHIBIT 1

Purchase Order

Lighting Solutions of Illinois



VILLAGE OF TINLEY PARK 16250 OAK PARK AVENUE TINLEY PARK, IL 60477

 DATE	
12/10/2018	

PO NUMBER	
VTP-016414	

VENDOR: 018269

LIGHTING SOLUTIONS OF ILLINOIS

401 S CARLTON AVE WHEATON, IL 60187 SHIP TO: VILLAGE OF TINLEY PARK 16250 S OAK PARK AVE TINLEY PARK, IL 60477

FOB Point:

Terms: A/P Net 30 Days

Req. Del. Date:

Special Inst:

Req. No.:

Dept.: TINLEY PARK VILLAGE HALL

Contact: RODGER, EILEEN per Terry Lusby

Confirming? No

Quantity	Unit	Description	Unit Price	Ext. Price
		THIS IS A REVISED PURCHASE ORDER		
40.00		CONVENTION CENTER	782.0000	31,280.00
		LED area Light-NEW Mirada Medium(MRM)		
		w/7 Pin receptacle		
		40- Universal Mounting Bracket		
		(Included)		
12.00		HOTEL	782,0000	9,384.00
72 A 16		LED Area Light-NEW Miranda Medium		
		(MRM)w/7 Pin receptacle		
F 5350 H		12-Universal Mounting Bracket (Included)		
30.00		250W REPLACEMENTS	385.0000	11,550.00
- 2429		ERLHO13B340GRAY		
12.00		INTERSECTION 310W REPLACEMENTS	430.0000	5,160.00
		ERLHO15D340AGRAY		
35.00		400W REPLACEMENTS	475.0000	16,625.00
THE STREET TO		ERL2016B340AGRAY	10	
130.00		LIGHT GRID CONTROL NODES	180.0000	23,400.00
		ELWNOA5UG5	X III ON TAXABLE	
2.00		GATEWAYS	5,860.0000	11,720.00
		LOT GATEWAYS		
10		Per Quote LV18-5788-2		
			SUBTOTAL	109,119.0

BILL TO: VILLAGE OF TINLEY PARK 16250 S. OAK PARK AVENUE TINLEY PARK, IL 60477
 SUBTOTAL
 109,119.00

 TAX
 0.00

 FREIGHT
 0.00

 TOTAL
 109,119.00

Account Number	Amount	Account Number	Amount





VILLAGE OF TINLEY PARK 16250 OAK PARK AVENUE TINLEY PARK, IL 60477

VENDOR: 015994

STERNBERG LIGHTING, INC. 36162 TREASURY CENTER CHICAGO, IL 60694

FOB Point:

Terms: A/P Net 30 Days

Req. Del. Date:

Special inst:

DATE 12/11/2018 PO NUMBER VTP-016431

SHIP TO: VILLAGE OF TINLEY PARK PUBLIC WORKS GARAGE 7980 W. 183RD STREET TINLEY PARK, IL 60477

Req. No.:

Dept.: PUBLIC WORKS

Contact: RODGER, EILEEN per Terry Lusby

Confirming? No

Quantity	Unit	Description	Unit Price	Ext. Price
22.00		22	1,400.0000	30,800.00
		PT-6130CLED-4ARCXXT3-MDL03-SV1-SRR7/BKT		
		66 watt fixture 5000 lumens		
		Include a 7 pin receptacle and plastic		
************		finial cap.	AND LANGUAGE PARTIES AND A STATE OF	
		Dimming module if required for the 66	a Received	
		watt fixture is \$45.00 per unit		
		Per QUOTE 18-27821-1		
			n granie i dani	
			(3)	
		[1] [1] [2] [4] [4] [4] [4] [4] [4] [4] [4] [4] [4		
20.70				
		STATE OF THE STATE		
			1946-00 124-00-00	
	10012000		AS SACRES ESTABLISHED	
			SUBTOTAL	30,800.00

BILL TO: VILLAGE OF TINLEY PARK 16250 S. OAK PARK AVENUE TINLEY PARK, IL 60477 TAX 0.00
FREIGHT 0.00
TOTAL 30,800.00

Account Number	Amount	Account Number	Amount	
			-	





VILLAGE OF TINLEY PARK 16250 OAK PARK AVENUE TINLEY PARK, IL 60477

VENDOR: 015994

STERNBERG LIGHTING, INC. 36162 TREASURY CENTER CHICAGO, IL 60694

FOB Point:

Terms: A/P Net 30 Days

Req. Del. Date:

Special Inst:

DATE 12/11/2018 PO NUMBER VTP-016432

SHIP TO: VILLAGE OF TINLEY PARK PUBLIC WORKS GARAGE 7980 W. 183RD STREET TINLEY PARK, IL 60477

Req. No.:

Dept.: PUBLIC WORKS

Contact: RODGER, EILEENper Terry Lusby

Confirming? No

Quantity	Unit	Description	Unit Price	Ext. Price
1.00		1 Sternberg Lighting	14,000.0000	14,000.00
		UL testing and labeling/plastic		
		casting and fixture roof modifications	ATROPOS DE MONTO DE LO VICENTO	
12.0% 2010-111		PER QUOTE 18-27821-2	2000015007000	
18 18 10				
			THE REAL PROPERTY.	
BESSELL II				300133310000
			11.00	127 (47)
GETWO MA				
		- I	-	1

BILL TO: VILLAGE OF TINLEY PARK 16250 S. OAK PARK AVENUE TINLEY PARK, IL 60477
 SUBTOTAL
 14,000.00

 TAX
 0.00

 FREIGHT
 0.00

 TOTAL
 14,000.00

Account Number	Amount	Account Number	Amount	

Bro HEllenlaur

STATE OF ILLINOIS)						
COUNTY OF COOK)	SS					
COUNTY OF WILL)						
		C	CERTIFICATI	3			
I, KRISTIN A. THIR	ION, Vi	llage Clerl	k of the Villag	e of Tinley	Park, Cou	nties of Coo	ok and Will
and State of Illinois, DO H	IEREBY	CERTIFY	Y that the fore	going is a to	rue and cor	тесt copy o	f
Resolution No. 2018-R-10	0, " A R I	ESOLUTI	ON APPROV	'ING A PUI	RCHASE (ORDER TO)
LIGHTING SOLUTIONS	FOR L	ED LIGH	ITING REPLA	ACEMENT	S – OAK I	PARK AVE	ENUE
(CONVENTION CENTE	R) TIF I	DISTRICT	Γ PROJECT),	" which was	s adopted b	y the Presi	dent and
Board of Trustees of the V	illage of	f Tinley Pa	ark on Decemb	per 4, 2018.			
IN WITNESS WH	EREOF,	, I have he	reunto set my	hand and af	ffixed the o	corporate se	al of
the Village of Tinley Park	this	day	of		_, 2018.		
				A			